Chapter 11 Assignment

two-Sample Tests of Hypothesis

Name _____________________________
Section ___________
Score ________

Part I 
Select the correct answer and write the appropriate letter in the space provided.

______  1.
The test statistic for testing a hypothesis when the population standard deviation is not known is 




a.
the t distribution.
b.
the F distribution.






c.
the z distribution.
d.
the ( distribution.

______ 2.
We want to test a hypothesis for the difference between two population proportions.  The null and alternate hypothesis are indicated:
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a.
A left-tailed test should be applied 




b.
A right-tailed test should be applied





c.
A two-tailed test should be applied





d.
We cannot determine whether a left, right or two-tailed test to apply without more information


______ 3.
In a upper-tailed test of means where the population standard deviations are unknown but assumed to be equal, the sample sizes for population one is 12 and population two is 14.  The value of the test statistic for a significance level of 0.01 is:


a.
2.056


b.   2.787


c.
2.492


d.   2.330

______ 4.
In a two-sample test of means for independent samples, n1 = 12 and n2 = 10. How many degrees of freedom are in the test?


a.
22
b.
21


c.
20
d.
none of the above

______5.
In the paired t-test, we assume in the null hypothesis that the distribution of the differences between the paired observation has a mean


a.
equal to 1.
b.
equal to n - 1.


c.
equal to 0.
d.
none of the above

______ 6.
For a particular significance level and sample size the value of the t for a one-tailed test is


a.
always less than z.
b.
always more than z.


c.
equal to 0.
d.
equal to z.

______ 7.
Which of the following is not an assumption for the two-sample t-test?


a.
equal sample variances

b.
independent samples


c.
normal populations

d.
equal population standard deviations

______ 8.
For dependent samples, we assume the distribution of the differences in the populations has a mean of:


a.
30
b.
0


c.
25
d.
none of the above

______ 9.
An upper-tailed two sample means test is to be conducted at the .02 significance level. The populations standard deviations are unknown and can not be assumed equal.  The degrees of freedom for the test statistic if n1 =10 and n2 =8 is: 


a.
18
b.
17


c.
16
d.
less than 16

______ 10.
To determine if a diet supplement is useful for increasing weight, patients are weighed at the start of the program and at the end of the program.  This is an example of a(n)


a.
test of paired differences.

b.
independent sample.


c.
one-sample test for means.

d.
two-sample test for means.

Part II
Answer the following questions. Be sure to show essential work.


11.
A financial planner wants to compare the yield of income- and growth-oriented mutual funds.  Fifty thousand dollars is invested in each of a sample of 35 income-oriented and 40 growth-oriented funds. The mean increase for a two-year period for the income funds is $1100. For the growth‑oriented funds the mean increase is $1090. At the 0.01 significance level is there a difference in the mean yield of the two funds?  Assume that σ1 = $45 and σ2 = $55.



a.
State the null and alternate hypotheses.



H0: _______________________

H1: _______________________



b.
State the decision rule.



_____________________________________________________________________________


c.
Compute the value of the test statistic.




d.
Compute the p-value.



e.
What is your decision regarding the null hypothesis? 



_____________________________________________________________________________


12.
Is the mean salary of accountants who have reached partnership status higher than that for accountants who are not partners?  A sample of 15 accountants who have the partnership status showed a mean salary of $82,000 with a standard deviation of $5,500. A sample of 12 accountants who were not partners showed a mean of $78,000 with a standard deviation of $6,500. At the 0.05 significance level can we conclude that accountants at the partnership level earn larger salaries?



a.
State the null and alternate hypotheses.



H0: _______________________

H1: _______________________



b.
State the decision rule.



_____________________________________________________________________________


c.
Compute the value of the test statistic.


d.
Compute the p-value.



e.
What is your decision regarding the null hypothesis? 




____________________________________________________________________________

13.     A study was conducted to determine if there is a difference, on average, in the mean starting salaries of men and women graduating with a degree in chemical engineering.  A sample of 35 men who graduated with a degree in chemical engineering from Barna College resulted had a mean starting salary of $54 thousand with a standard deviation of $4 thousand.  A sample of 22 women graduating from Barna College that same year with a degree in chemical engineering had a mean starting salary of $50 thousand with a standard deviation of $2 thousand.  Conduct a test at the .05 level of significance.  The population standard deviations can not be assumed to be equal.



a.
State the null and alternate hypotheses.




H0: _______________________
H1: _______________________



b.
Find the value of the test statistic. 








c.
State the decision rule.




_____________________________________________________________________



d.
Compute the value of the test statistic.


e.
What is your decision regarding the null hypothesis? 



_____________________________________________________________________________

14.

The Human Resources Director for a large company is studying absenteeism among hourly workers. A sample of 120 day shift employees showed 15 were absent more than five days last year. A sample of 80 afternoon employees showed 18 to be absent five or more times. At the 0.01 significance level can we conclude that there is a higher proportion of absenteeism among afternoon employees?


a.
State the null and alternate hypotheses.



H0: _______________________
H1: _______________________



b.
State the decision rule.




_____________________________________________________________________________



c.
Compute the value of the test statistic.



d.
Compute the p-value.


e.
What is your decision regarding the null hypothesis? 



_____________________________________________________________________________
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15.
The President and CEO of Cliff Hanger International Airlines is concerned about high cholesterol levels of the pilots. In an attempt to improve the situation a sample of seven pilots is selected to take part in a special program, in which each pilot is given a special diet by the company physician. After six months each pilot’s cholesterol level is checked again. At the 0.01 significance level can we conclude that the program was effective in reducing cholesterol levels?


a.
State the null and alternate hypotheses.



H0: _______________________

H1: _______________________


b.
State the decision rule.




_____________________________________________________________________________


c.
Compute the value of the test statistic.


d.
Compute the p-value.


e.
What is your decision regarding the null hypothesis? 



_____________________________________________________________________________
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